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e of the following has the highest dipole

10.4 Whlcl:{ 2’; (i) CHC, (i) CCl, oment?
m:tc') ,a(\”hyc'd:oc:f""“ C°H'°dd(:il r(lz(;t h:e sll)cr:g::th Clll]orlne " dark but gives 5 single
u'bon\ 10.5 snochloro compound L5, Sunlight. Identify the hydrocarbon.
)Sitl\/e o te the isomers of the compound having formula C.H,Br.

10.6 Wri the equations for the preparation of 1-fodobutane from
iigon V40.7 ‘Z;ﬁ:-butanol (i) 1-chlorobutane (iii) but-1-ene,
d lgg What are ambident nucleophiles? Explain with an example.
loger, \j?“? Which compound in each of the following pairs wijj react faster in S 2 reaction
1 the () CH,Br or CH,l (i) (CHy),CCl or CH,CI
)rces

predict all the alkenes that would be formed

y dehydrohalogenation of the
following halides with sodium ethoxide in ethano] and identify the major alkene:

anje 10.10

heir () 1-Bromo-1-methylcyclohexane (ii) 2—Chloro-2-methylbutane
form (i) 2.2,3-Trimethyl-3-bromopentane. .
m‘to 10.11/gew will you bring about the following conversions?
se g} %Ethand to but-1-yne (ii) Ethane to bromoethene (i) Propene to 5
oS 1-nitropropane (iv) Toluene to benzyl alcohol (V) Propene to propyne &
(v Ethanol to ethyl fluoride (vii) Bromomethane to propanone (viii) But-1-ene &
rm. o but-2-ene (ix) 1-Chlorobutane to n-octane (x) Benzene to biphenyl. b
ver, 10,79/ Explain why :
1 of (i) the dipole moment of chlorobenzene is lower than that of cyclohexyl chloride?
p. (i) alkyl halides, though polar, are immiscible with water?
(iii) Grignard reagents should be prepared under anhydrous conditions?
10.13 Give the uses of freon 12, DDT, carbon tetrachloride and iodoform.
10. ﬂﬂte the structure of the major organic product in each of the following reactions:
o a () CH,CH,CH,CI + Nal %
(i) (CH),CBr + KOH LE:%

i) CH,CHBr)CH,CH, + NaOH __Water

) CHCHBr + kcn .24 cthanol |
(v) CH,ONa + CHCl —» ]
W) CH,CH,CH,0H + soCl, ——»

Wil) CHCH,CH = ch, + pBr _ Peroxide |
(viij) CH,CH = C(CH), + HBr ——
Write the mechanism of the following reaction:
nBuBr . KCN  EtOH-H,0 nBuCN

Arrange the compounds of each set in order of reactivity towards S, 2
displacemen.

10,

M) 2‘Br0m0'2‘methy]butane, 1-Bromopentane, 2-Bromopentane

(1) I‘Br0m0-3-methylbutane 2-Bromo-2-methylbutane, 2-Bromo-3-methylbutane
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oNLY T 9,2-dimethylpropane, 1-Bromg
Bromobutane 2 me
ii) 1-Bro ’
1 -Brom0-3~methy1

and

1-Bromo-
putane.

o HscHCICeHW which is more easily hydrolygm ‘

|
i 10.17 Out of CGH,,CH,CI
18 23)}:chlorobenzene has higher m-P- than those of o- and muisome,
How the following conversions €
(i) Propene to propan-1-ol
(i) Ethanol to but-1-yne |
ot (iif) 1-Bromopropane to 2-bromopropane

| (iv) Toluene to benzyl alcohol

(v) Benzene to 4-bromonitrobenzene

(vi) Benzyl alcohol to 2-phenylethanoic acid
(vii) Ethanol to propanenitrile
(viii) Aniline to chlorobenzene
- (ix) 2-Chlorobutane to 3, 4-dimethylhexane
i (x) 2-Methyl-1-propene to 2-chloro-2-methylpropane

(xi) Ethyl chloride to propanoic acid |
(xij) But-1-ene to n-butyliodide |
(xiii) 2-Chloropropane to 1-propanol

an be carried out?
10.1

10

1C

(xiv) Isopropyl alcohol to iodoform

(xv) Chlorobenzene to p-nitrophenol
(xvi) 2-Bromopropane to 1l-bromopropane
(xvii) Chloroethane to butane
(xviii) Benzene to diphenyl |

(xix) tert-Butyl bromide to isobutyl bromide

M (xx) Aniline to phenylisocyanide

' .20 The treat i

1 ment of alkyl chlorides with aqueous KOH leads to the formati
on

alcohols but in the
. presence of alcoholic KOH, g]
10.21 Primary alkyl halide C,H Br (a) reacted o penes are major products, Ex

fompound (b) is reacted with HBr t “{ith alcoholic KOH to give compound|

a) is reacted with sodji © give (¢) which is an is k
. 0 . Wh

, from the compound0 dflcl)l T metal It gives compound (a), ¢,1 \rvnkfir }'cl)f' (agiiffem

! i r ’ c

Give the structural formnlled when n-butyl bromide is iez:::t d 'tllsl diut

P22 What 1, wa of (a) and write tn : ec Witk @

| appens when € equations for all the reactiof
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